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= [1600 — 1622]; = [ 1600 — 162]%
= [(160)(5) — (16)25)] — [(160K8) — (16)(64) — ((160)(5) — (16)(25))]
= 400 — (—144) = 544,
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Exercises

Evaluating Indefinite Integrals 1 Grl dr — .
Evaluate the indefinite integrals in Exercises 1-16 by using the given . W — r"' = r
suthstitutinns to rednee the integrals o standard finrm

12 f 120 + 47 + 130 + 2vddy, w=v'+4v + 1
L | 22 +4fde, u=2r+4

— 13, f‘\.’Tsinztx'-": — 1jdy, u=x"—1
2 f'.l"\;'."x— lade, u=Tx—1
1 A1 1

14. f—ccﬁ'(-)dx. u=-3

3. flm—‘ +57de, =245 e * *
i 15. f csc? 26 cot 26 o9
4 mdﬁ: n=x+1
! a. Using u = cot 28 b. Using & = csc 28
5 f (3r + 2032 + dridy, o= 30 + 4 16. f = __
Wiir+ 8
{1+ x)pe - a. Using u = 5x + 8§ b. Using u = %5z + 8
f—}_rﬂ w=1+ vx
W Evaluate the integrals in Exercises 17-66.
7. fsin irdr, w=3x 8. fxsjn{lr‘:ir. u= 2 17. f\f3 — ey 18, f]—d_;
W55 + 4
LA fsnclrmnlrdr. w=2 19. fﬁl\#] — &= i 2. f]_l'\.r'? — 3y dy
A _ 1 1 — 4
ik | —coss | sinzdl, w=1-cosg 2. | == 22, [ Wsinxcos xdy
2 2 2 Vil + vx)?
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